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MATEMATIKA

100 000
100 000×1,04 = 104 000

104 000× 1,04 = 108 160
q q = 1,04

n a0

an = a0 q
n

a0 s
q a0

q s

a1 = a0q − s.

a2 = a1q − s = (a0q − s)q − s = a0q
2 − sq − s.
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a3 = a2q − s = (a0q
2 − sq − s)q − s = a0q

3 − sq2 − sq − s.

n

an = a0q
n − s(1 + q + · · ·+ qn−1).

r = 1 + q + · · ·+ qn−1.

r =

n−1∑
i=0

qi.

q = 1 r = n q 
= 1 q

rq = q + q2 + · · ·+ qn,

r

rq − r = qn − 1

(q − 1)

r =
n−1∑
i=0

qi =
qn − 1

q − 1
.

n

an = a0q
n − s

qn − 1

q − 1
.

s n

an = 0,

26



MATEMATIKA

a0q
n − s

qn − 1

q − 1
= 0.

a0
s n q

s = a0
q − 1

1− q−n
.

a0 = 100 000
n = 60

q = 1,04
1
12

.
= 1,003 27

s
.
= 1838 .

ns = 110 306 .

s
.
= 473,

ns = 170 389,

a0 = 100 000, a360 = 0
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(n → ∞)
a0(q − 1)
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108

an+1 = q an,

an = a0 q
n.

da

dt
= ka,

a(t) = a(0)ekt.

q > 1 k > 0
0 < q < 1 k < 0

a(t)
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